Lior Silberman’s Math 100 39
18. THE SHAPE OF THE GRAPH (16/11/2021)

Goals.

(1) Midterm review

(2) Implications of MVT for the shape of the graph:
(a) Increasing and decreasing functions
(b) Concave and convex functions
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2. Show that there is a number ¢ such that tan(c) = ¢+ 1.
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5. A population of algae decays exponentially. ,&3 }}

(a) If the population falls by a factor of 3 every 30 days, find the time needed’ or the population to be divided by 2.
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(2) For each of the following functions determine its do-
main, and where it is increasing or decreasing. Hx-
cept in part (b) also determine where the function is
concave up/down.
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(c) flx) =xlogx — 2z

(d) i;—;g. You may use that f/(x) = (Tijg)g and that
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